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H OH A 1 2 3 4 5 6 7 8 9 10 11 12 M
A |H1/3 (m) 3.48 3. 34 2.26 3.06 2.09 1.30 1. 46 1.47 2.90 3.38 2.37 3.16 3.48
KA 5
¥ T1/3 (s) 8.3 9.6 10.3 10. 4 7.1 8.0 5.0 6.5 9.7 10. 4 8.2 8.3 8.3
o (B-B) 31-20 1- 2 29-20 27- 0 31-14 1- 0 10-18 3-0 1-12 9- 0 12- 4 4- 6 1-31-20
N A | HMAX (m) 4,97 4.90 4,01 5.53 3.33 2.03 2.50 2.32 4,27 6. 39 4,62 4.79 4.97
S IS I e I 1=
B | TMAX (s) 8.4 10.2 9.4 10. 6 6.7 8.2 4.8 6.1 9.9 10.2 7.4 8.1 8.4
H1/3| ¥ ¥ & 0.98 0.73 0. 59 0. 69 0. 36 0. 44 0.35 0.35 0. 65 0.58 0. 54 0. 64 0.57
NS ORCE: = —
(m) | AR 0.64 0.55 0.35 0.54 0.25 0.23 0. 20 0.18 0.42 0.63 0.41 0. 40 0. 46
T1/3| ¢ ¥ & 8.5 6.8 7.8 7.7 6.8 6.7 6.1 6.6 8.0 7.4 6.2 6.9 7.1
TEYE(R 22
(s) | EHHE 2. 43 1.80 2.18 2.09 1. 62 0.95 0.89 1.25 1.98 1.94 1.56 1.88 1.92
woos = (%) 100.00 | 100.00 | 100.00 | 100.00 99.73 | 100.00 | 100.00 | 100.00 | 100.00 | 100.00 | 100.00 | 100.00 99. 98
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T A 25 3 [ e lm—2m 10.85% 4 s —6 s 29.10%
1 O HEIA BRI 1 W 2m—3m 2 03% 1 6 s —8 s 40.45%
3 60 WE3m—4m 0.30% 30 EHE 8 s —10s 19.00%
~ T 8~ 3 WEm4m—5m 0.00% 3 HH10s —12s  8.08%
E ° 2 & W smbll  0.00% > A2 s LE 1L.75%
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